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CONIC SECTIONS CM111001

1. Find the equation of the circle which passes through the point of intersection of the lines 3x-2y-1=0 and
4x+y-27=0 and whose centre is (2,-3).

2. Find the equation of a circle whose diameters are 2x — 3y + 12 = 0and x + 4y — 5 = 0 and area
is 154 square units.

3. Find the equation of the circle which passes through the origin and cuts off intercepts 3 & 4 from
the positive parts of the axes respectively.

4, Find the equation of the image of the circle x? + y? + 8x — 16y + 64 = 0 in the line mirror x = 0.

5. Find the equation of the circle whose radius is 5 and which touches the circle
x% + y? — 2x — 4y — 20 = 0 externally at the point (5,5).

6. A circle of radius 2 lies in the first quadrant and touches both the axes. Find the equation of the circle
with centre at (6,5) and touching the above circle externally.

7. Show that the points (3, —2), (1,0), (—1, —2) & (1, —4) are concyclic.

8. Find the equation of the circle concentric with the circle x2 + y2 — 6x + 12y + 15 = 0 and double
of its area.9. Find the equation of the circle which touches the lines 4x —3y + 10 =0&4x -3y —30=0
and whose centre lies on the line 2x +y = 0.

10. One diameter of the circle circumscribing the rectangle ABCD is 4y = x + 7. If the coordinates of A

and B are (—3,4) and (5,4) respectively, find the equation of the circle.

11. Find the equation of the circle circumscribing the triangle formed by the lines x + y = 6,

2x +y =4andx + 2y = 5.

12. The line 2x — y + 6 = 0 meets the circle x? + y?2 — 2y — 9 = 0 at A and B. Find the equation of

the circle on AB as diameter.

13. Find the equation of the circle whose diameter is the line segment joining (—4,3) & (12, —1).

Find also the intercept made by it on y-axis.

14. For the following parabolas find the coordinates of the foci, the equations of the directrices

and the lengths of latus-rectum: (i) y? = 8x (ii) x? = 6y (iii)) y? = —12x (iv) x? = —16y.

15. Find the vertex, axis, focus, directrix, latus-rectum of the following parabolas. Also draw their

rough sketch: (i)y? —8y —x —19=10 (ii)4y? + 12x — 20y + 67 =0

16. Find the equation of the parabola whose focus os (1,1) and tangent at the vertexis x + y = 1.

www.facebook.com/ chillimath https://chillimath.com support@chillimath.com






